| Efficiency vs Dxy |

0.1
0.09
0.08
0.07
0.06
0.05
0.04
0.03
0.02
0.01

.......................

1QF

Sa Hil

1.1

1

0.9

W I

.......................

| Efficiency vs Dz |

SR SR SR MO (11 1 O R
-25-20-15-10 -5 0 5 10 15 20 25

—=— DQM CKF
—e— DQM_mKkFit

—— DQM_BDT_CKF

0.1
0.09
0.08
0.07

0.08 {11 {{f| |1 -
0.05e|-}-
0.04f -1t
0.03fUL-H R L1

0.02

0.0 14|+

o

—.— DQM_BDT_mkFit

1

15+ : : : ‘ ‘
0.9 FFHAHHHA--FHAHHHE-F AL -1 ...".:.." LR - L

B T T T [T T T T

AR b

0.8

T
307 20




	Contents
	Page 1


